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A homogeneous liquid phase reaction
A—R,  1y=kC,’
takes place with 50% conversion in a mixed reactor.
(a)What will be the conversion if this reactor is replaced by one 6 times as large----all
else remaining unchanged?
(b) What will be the conversion if the original reactor is replaced by a plug flow
reactor of equal size----all else remaining unchanged?
V0,20 70) T MR 5 O —M¥ ASFBE/R7E T0°C HEAT 48 R IR Y, e R S % —r,=kC,’ kmol/L. min
(FHRARRT M. ERWAF 70CH, k=1.97 L/ (kmol.min), CMEIHRE
Cw=0. 004kmol/L. #4§ H AL 2400kg =R, T _MREILEN 80%, HitH:
(1) #AREFRFRY 1h, AEH BR B R M3 AR
(2) KM PFR KBl R N AR4AR 5
(3) RAHB CSTR R BT 5 [ AR AA A
(4) KAIPE CSTR I T R8s AR . (RESE—BUH Db 60%, 5 B M#{b
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fi. BEHAMNBERETF ¢ H—&RIEK, HIEH: n = 21, N BERET
2= [ (1+4Da) “*-11%*/ (4Da®). (10 4})
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